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Worksheet 1-2: Solving a Right Triangle

To solve a right triangle means to find all the unknown sides and unkmown angles of the right triangle.

Since each trigonometric ratio involves 3 pieces of information (one a-"g"{ and two S\AQS ).

Two of the three pieces of information must be given to find the unknov™ information.

Properties of Risht Triangle

Hypotenuse

I. Triangle Sum Theorem

Lh+LB4+2C-|8D°

II. Complementary Angles

LR t¢B=90
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III. Pvthagorean Theorem: <% = a* +5*

¢ is the ‘(%DD-}M ‘A&e’ . b and c¢ are the I ?/q ;
Ul U

Practice:
1. Find the measure of the unknown side, round to the nearest tenth of a centimetre.

CZ: 0\z+\92
3% sth
3257 b’

N3t =b

L)’,[?.CM

5 cm
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Case 1: Solving a right triangle, given Dne sl AL n'\A 0 M &h Q‘e’

Solve A ABC Find side lengths to the nearest tenth of a centimetre and angles to thenea_rest(éegree_

(Hint: Abways try to use the fmown values that are given to find the unknown values to aveid ervors.)

SWH i Toh

Find o . Find b b
oS Gots S'\V\GOD‘ 25
i 9 AR
2§; 5 | X i
95 ws bp’ = & 2545 bo” =
A =12.5M b= l|-7(.m

Find £ h
LA: qo - éo
=30
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Case 2: Solving a right triangle, given a S'dl S

Solve ADEF. Find side lengths to the nearest tenth of a centimetre and angles to the nearest degree.

(Hint: Always ty to wse the mown values that are given to find the unkmown values to avoid errors.)

© . SoH tAH Toh
J - m{)
mﬁcm 1 cm oPr

D e F
Find € Find <D
€=m S'W\D:—;——;—

= 6‘16"’\ LD: $'|V\~I(llj’5>

= 53"

Find_ZE
0 E = —l—
LE=s™ (ll%

0

= 32
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2. Solve ALMN. Find side lengths to the nearest tenth of a metre and angles to the nearest degree.

Fl.'\ok UV\ 1 .Fmo\ LN { LN = qoo_ SDD

o, 3067 Th % = 60"
| 1 |

LNl = L o0 LN - 7

Tan3 Sin 30°

= |4— (A
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3. Findthe measure of AD, tothe nearest tenth of a metre. SOH CﬁH TDﬁ
I o,
RC

BRI

HD: ﬁ('l'CD ]
= (Z,Mhzz"»{—l?_hhqs

= 6.9 em
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6. Find the area of the trapezoid, to the nearest square centimetre.

A Elamg\E
12 cm | 2¢ /
;I %P
M ARDE, | Tifalk Avea= A + Ap
o _ |2
J@Lﬂ%ﬁ 2[2x22 + 12x43]1
Be= % = 49,22 — 2
fanp - 21027
24.%] - 2o eh

l-. . 71’\1 AYeo, (5 2‘(0 ch']’Z_)
Dedduct 5 mark if l'l'l%'lfg angwer Stfement.

10
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Answers: 1. 12 cm; Casel: Z4=30% a=125m A=217Tm;Cased: DF =69 cm, £& =32° £D=55";
2, SN =607 A =12 1m AV =14m: 3. 16.8m: 4. 15.5m; 5. 405 cmg 6. 250 o,

Assigned Work: WS 1-2; p. 14 #6-9

11
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